
5. cvičení - výsledky

Příklad 1.

(a) f ′
x(u(x, y), v(x, y)) = 2e2x

√
1 + e2x + e3x

2
√
1+e2x

f ′
y(u(x, y), v(x, y)) = 0

(b) f ′
x(u(x, y), v(x, y) = − cos3 x · e3x + 2 sin2 x cosxe3x − 3 sinx cos2 xe3x

f ′
y(u(x, y), v(x, y)) = 0

(c) f ′
x(u(x, y), v(x, y)) = 2(x− y) cos

(
(x− y)2

)
cos(x2 − y2)− 2x sin

(
(x− y)2

)
sin

(
x2 − y2

)
f ′
y(u(x, y, z), v(x, y, z)) = 2(y − x) cos

(
(x− y)2

)
cos(x2 − y2) + 2y sin

(
(x− y)2

)
sin

(
x2 − y2

)
(d) f ′

x(u(x, y), v(x, y) = −3e3x−2y + xy+z
x+2y+3z + 2 log(x+ 2y + 3z)y2

f ′
y(u(x, y, z), v(x, y, z)) = 3e3(x−y) + 2(xy+z)

x+2y+3z + x log(x+ 2y + 3z)

f ′
z(u(x, y, z), v(x, y, z)) =

3
√
xy+z

x+2y+3z + log(x+ 2y + 3z)

Příklad 5.

(a) ∂φ
∂x (1, 0) = 1, ∂φ∂y (1, 0) = 0, ∂ψ∂x (1, 0) = 0, ∂ψ∂y (1, 0) = 1.

(b) ∂φ
∂x (1, 2) = 0, ∂φ∂y (1, 2) = −1

3 ,
∂ψ
∂x (1, 2) = −1, ∂ψ∂y (1, 2) =

1
3 .

(c) ∂φ
∂x (1 + e, e) = 1

e+1 ,
∂φ
∂y (1 + e, e) = 0, ∂ψ∂x (1 + e, e) = −e

e+1 ,
∂ψ
∂y (1 + e, e) = 1.

(d) ∂φ
∂x (1, 1) = −17

22 ,
∂φ
∂y (1, 1) =

1
22 ,

∂ψ
∂x (1, 1) =

−3
22 ,

∂ψ
∂y (1, 1) = − 5

22 .

Příklad 6.

(a) φ′(1) = −1, φ′′(1) = 0 a tečna je x = 2− y.

(b) φ′(−1) = −2, φ′′(−1) = 2 a tečna je x = −2y.

(c) φ′(1) = 1
3 , φ

′′(1) = 32
27 a tečna je x = y

3 + 1− π
3 .

Příklad 7.

(a) ux(1, 1) =
1
2 , vx(1, 1) =

−1
2

(b) u′(1, 0) =
(
0,−1

3

)
, v′(1, 2) =

(
−1, 13

)
(c) zxx(1,−1) = 1

2 , zxy(1,−1) = 1
2 , zyy(1,−1) = 1

2

(d) zxy(3, 3) =
26
11

(e) xv(5,−7) = −1
2 , yv(5,−7) = 1

4 , zv(5,−7) = 2
3

(f) ∂Φ
∂u (0, 1) =

1
e−2

Příklad 8.

(a) φ′(π4 ) = −1, φ′′(π4 ) = −32
9 a tečna je y = π

2 − x.

(b) φ′(π) = 2eπ−3
2eπ+3 , φ

′′(π) = −24 2e2π−3
(2e2π+3)3

a tečna je y = π + 2eπ−3
2eπ+3(x− π).

(c) φ′(2) = −2
5 , φ

′′(2) = 24
125 a tečna je y = −1− 2

5(x− 2).

(d) φ′(1) = −1
3 , φ

′′(1) = −70
27 a tečna je y = 1− 1

3(x− 1).
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